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. Answer (D):

. Answer (A):

. Answer (A):

. Answer (D):

- Answer (D): Because AABC is isosceles, /BAC =
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- Answer (C): Susan pays (4)(0.75)(20) = 60 dollars. Pam pays (5)(0.70)(20) =

70 dollars, so she pays 70 — 60 = 10 more dollaxs than Susan.

The brick has a volume of 4020 10 = 8000 cubic centimeters.
Suppose that after she brick is placed in the tank, the water level rises by h
centimeters. Then the additional volume occupied in the aquerium is 100-40-h =
40007 cubic centimeters. Since this must be the same as the volume of the brick,
we have

8000 =4000h and h =2 centimeters

Let she smaller of the integers be x. Then the larger is 2 — 2.
50 & + 2 = 3u, from which » = 1. Thus the two integers are 1 and 3, and their
sum is 4.

Kate rade for 30 minutes = 1/2 hour at 16 mph, so she rode 8
miles. She walked for 90 minutes = 3/2 Lours at 4 mph, so she walked 6 miles.
Therefore she covered a total of 14 miles in 2 haurs, so her average speed wes 7
mph.

After paying the federal taxes, Mr. Public had 80% of his
Inheritance money left. He paid 10% of thas, or 8% of his inheritance, in state
naxes. Hence his total tax bill was 28% of his inheritance, and his inheritance
was $10,500/0.28 = $37,500.

(180° - ZABC) = 70°.
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Simlarly,
LA % (180° = ZADC) = 20°.

Thus ZBAD = ZBAG - /DAC = 50°.
OR

Because AABC ard AADC are isosceles triangles, applying the Exterior Angle
Theorem to AABD gives ZBAD = T0° - 20° = 50°.
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. Answer (C):
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Answer (C): Let D he the difference befween consecutive terms of the se-
quence. Thena=c-2D,b=c—D,d=c+D,and e=c+2D, so

atbt+ctdte=(c-2D)~(c—-D)+c+(ct+D)+(c+2D)=5e.

Thus be = 30, so ¢ = 6.

To see that the values of the other terms cannot be found, note thas the se-
quences 4,5,6,7,8 and 10,8,6,4, 2 both satisfy the given conditions.

Consider the two chords with an endpoint at 5. The arc sub-
tended by the angle determined by these chords extends from 10 to 12, so the
degree measure of the arc is (2/12)(360) = 60. By the Central Angle Theorem,
the degree measure of this angle is (1/2)(60) = 30. By symmetry, the degree
measure of the angle at each vertex is 30.

. Answer (B): Let w be Yan's walking speed, and let 2 and y be the distances

from Yan to his home and to the stadium, respectively. The tite required for
Yan to walk to the stadium is y/w, and the time required for him to walk home
is /w. Because he rides Lis bicycle at a speed of Tw, the time required for him
to ride his bicycle from his home to the stadium is (2 + y)/(7w). Thus
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As a consequence, Ty = 8z + y, 50 8z = 6y. The required ratio is 2y = 6/8 =
3/,

OR

Because we are interested only in the ratio of the distances, we may assume that
the distance from Yan's home to the stadium is 1 mile. Let 2 be his present
distance from his home. Imagine that Yan has & twin, Nay, While Yan walks
to the stadium, Nay walks to their home and continues 1/7 of a mile past their
home. Because walking 1/7 of a mile requires the same amount of time as riding
1 mile, Yan and Nay will complete their trips at the same time. Yan has walked
1 — ¢ miles while Nay has walked z + % miles, o 1 —z =+ % Thus z = 3/7,
1 -2 =4/7, and the required ratio is /(1 — 2} = 3/4.

Answer (A): Let the sices of the triangle have lengths 3, 4z, and 5z. The
triargle is a right triangle, so its hypotenuse is & diameter of the circle. Thus
52 =23 =0, 0 = 6/5. The area of the triangle is
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